4. BASIC RESPONSES

Jump raises - minors ~ Limit 10-12

Jump raises - Majors ~ limit 10-12

Jump shifts after minor opening  Weak

Jump shifts after Major opening  Weak

Responses to strong 2 suit open. 24 negative, all else natural positive

Responses to 2NT opening System on, 3NT to play, 4% Gerber
5. PLAY CONVENTIONS Show priorities
Versus Suit  (or both) Versus NoTrump (if different)
Leads  Sequences: Over Lead all

Four or more with an honour ~ 4th highest
From 4 small 2nd highest
From 3 cards (nohonour) Top
In partner's suit
Discards Low encourage
Count NA
Signal onpartner'slead:  Low ecourage
Signal ondeclarer'slead: NA
Notes

6. SLAM CONVENTIONS

ANT:  Blackwood RKCB 4 Gerber [X] when? after 1 or 2NT opening
Slam Notes

CueBids [ | NA

Asking Bids |:| NA

7. OTHER CONVENTIONS
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1. OPENING BIDS
CanapeD

Describe strength, minimum length, or specific meaning

i 3+ ¢ 12-19HCP 19 5+9, 12-19 HCP
19 3+ @, 12-19 HCP 1 5+ &, 12-19 HCP
1NT 15-17 HCP balanced may contain 5 card Major |:|

INT Responses 2¢k Simple Stayman

20 V¥ 24 Minors

PA I 2NT Invite, 8-9 HCP
other

2¢e 23+ game force
2¢ 6-9 HCP, 6 card ¢
2¥ 6-9HCP,6 ¥

24 6-9 HCP, 64

2NT 20-22 Blanced
other

3NT 25+ Balanced

2. PRE-ALERTS

3. COMPETITIVE BIDS / OVERCALLS

Negative doubles through 3V Jumpovercalls  Weak
Responsive doubles through 3% UnusualNT  NA

15-17 sys on Immediate cue of minor ~ Michaels
Immediate cue of Major ~ Michaels

Over opening threes ~ Natural, X T/O

INT overcall - immediate
INT overcall - re-opening ~ 12-14 sys on
Over weak twos Natural, X values t/o
Over opponent's INT ~ Natural



8. RESPONSES TO OPENING BIDS

Describe strength, minimum length, or specific meaning

i 14 6+ HCP, 4¢ 2¢ 6-9 HCP 6+¢ 3¢ 10-12 HCP, 6+¢
1¥ 6+ HCP, 49 2¥ 6-9 HCP 6+¥ 3¥ 10-12 HCP, 6+¥
1N 6+ HCP, 44 24 6-9 HCP 6+4 3 10-12 HCP, 6+4
INT 6-9 HCP no major ONT 10-12 HCP, Bal. 3NT 13+ HCP Balanced
2¢ 6-9 HCP,5+% noM 3&% 10-12 HCP, 5+ 4e%e 13+ HCP, 6+
other 13+HCP, 6+ ¢/¥/&

19 19 6+ HCP, 49 2¥ 6-9 HCP 6+¥ 3¥ 10-12 HCP, 6+¥
1M 6+ HCP, 44 24 6-9 HCP 6+4 3A 10-12 HCP, 6+4
INT 6-9 HCP no major ONT 10-12 HCP, Bal. 3NT 13+ HCP Balanced
2¢6 6-9 HCP, 6+% noM 3% 10-12 HCP 6+ 4¢ 13+ HCP, 6+
29 6-9HCP,5+¢, noM 3¢ 10-12 HCP, 5+¢ 4¢ 13+ HCP, 6+¢
other 13+HCP, 6+ V/é

1¥ 1A 6+ HCP, 4+ & 2¥ 6-9 HCP, 3+%¥ 3¢ 10-12 HCP 6+
INT 6-9 HCP, no 44 24 6-9 HCP 6+4 3¥ 10-12 HCP 3+%
2¢ 6-9 HCP, 6+ ONT 10-12HCP, Bal, No 44 34 10-12 HCP 6+4
2¢ 6-9 HCP, 6+¢ 3¢ 10-12+HCP 6+% 3NT 14-16 balanced
other 13+HCP, 6+ /&, ANT Blackwood

18 INT 6-9 HCP no 34 2h 6-9, 3+ 3¥ 10-12 HCP 6+%
2% 6-9 HCP, 6+ no 3¢ 2NT 0-12HCP, Bal, No 3¢ 34 10-12HCP, 3+4
2¢ 6-9HCP, 6+¢,n034% 3% 10-12 HCP, 6+ 3NT 13+ HCP balanced
2¥ 6-9 HCP, 6+¥ 3¢ 10-12 HCP 6+4 4¢fe 13+ HCP, 6+
other 13+HCP, 6+ ¢/%, 4ANT Blackwood

INT 3¢ 10-12 HCP, 6+ 3A 10-12 HCP, 6+4 49 N/A
3¢ 10-12 HCP, 6+¢ 3NT To Play 49  N/A
3¥ 10-12 HCP, 6+%¥ 4¢% gerber 486 N/A
other

2% 24 0-7 HCP ONT 8+ HCP balanced 3¢ N/A
2¥ 8+HCP, 5+¥ 3% N/A 3d  N/A
2& 8+HCP, 5+é 3¢ N/A INT N/A
other

26 29 To play 3% To play 3d N/A
24 To play 3¢ 6+ HCP, 2+¢ 3NT To Play
2NT 18-19 HCP 3¥ N/A 4 N/A
other

Notes

29 24 To play 3¢ Toplay 3NT 20+ HCP
ONT 18-19 HCP balanced 3% pre-emptive raise 4%  N/A
3% To play 3d N/A 49 To play
other

2A 2NT  To play 3¥ Toplay 4% N/A
3¢ To play 3MA Pre-emptive raise 49 N/A
3¢ Toplay 3NT To play 4M  To play
other

ONT 3¢ Stayman 3 Natural forcing 49 N/A
3¢ Transferto ¥ 3NT To play 489 To play
3¥ Transfer to & 4¢% Gerber 446 To play
other

9. CONVENTIONS

Unusual NT: N/A

4th Suit Forcing

NT Checkback [ |

Defence to 3NT opening

Defence to Opening Twos
Multi 24 X t/out, other natural
RCO style 2-s
Other 2-s

Oneround [ |

Priorities:
Natural
Natural

X t/out, other natural

Game force

Defence Natural
to
strong

%

Over 1NT Interference Natural
Lebensohl - other uses
id/4®  X=t/out

44 X t/out

Take out of 4 level pre-empts
49 X=tlout

10. OTHER NOTES




